outomqtig.lro .
industrial marketplace
Il Ordering information iTH{E &

T 18- N2

NPN NO 3-Wire
N2 | NPN NC 3-Wire
PNP NO 3-Wire

Output P2 | PNP NC 3-Wire
Lk A5 NO 2-Wire —£
NC 2-Wire —£;

Cablu Cu Conector NT TR oG

P3 | PNP NO+NC

T

0|0

Pentru TRC SUpEly (RO TCT e
BE [ A |ACType
2 2mm
Detecting distance 2 222
RNEE R 10 10mm
15 15mm
Serial number r& S
B e {Side length #HM 3L 8 4(mm)|
connection Standard  #RAERY
BLAX Connector #EaEa
Cylindrical [R5
Appearance Rectangle 77 ®
INBY Gy 2K Flat FEmE

Groove shape ff #U

Inductive BT
Capacitive HZARTR
HALL E/RR

Proximity switch

BIEF X

mw|O|-| |ClT|»w|T| |O

M12 Micro QD Style Normally Open PNP (Sourcing)

Thread Skze Shislded Dimensions are shown in mm (in.).
A B C D
Yes 40,0 (1.57) -
M12 X1 12.0(0.47
No 0 34.0(1.34) 6.0(0.24)
Yes 40.0(1.57) -
M8 X1 18.0(0.71 60.0(2.36
No o (236) 32.0(1.26) 8.0(0.31)
M30X 15 i 300(118) Ly =
’ No o 28.0(112) 12(0.47)
B u =
O 0 &
0726.175.111 | COMPONENTE PNEUMATICE SI HIDRAULICE AUTOMATIC INVEST WWW.AUTOMATIC.RO
0721.228.444 | COMPONENTE ELECTRICE ROMANIA, IASI, EMAIL
0754.075.656 | COMPONENTE MECANICE CALEA CHISINAULUI, NR. 29 VANZARI@AUTOMATIC.RO




automatic.ro

industrial marketplace

;l - -
. Dimensions R (unit:mm)
TRC08-1.5DL
‘ = ‘ 015
43

12,
3.0

o

M8X1 M8x1

TRC12-4D! | o0

¢21
¢21

3

60 )
l 43 ‘ ﬁ } 43 ‘
a@ 17
3.6 \Mi12x1  \Mi2x1 @ 3.6 \M12x1_ \M12x1
, "

67 ) TRC12-4A| 67

50 |
17 _
@» | R
a8 \wiat \utzst

D_|
|
D

«
o
F
)
X
F
N
ot
L

48 |13 29 10/ 38 |J3
[ 24 [ I
T ||
1| L
X Mi2x1 | . X Mi2x1
T \ e \M18x1
71 TRC18-8A[ | 71
58 |13 _$29 10/, 48 [BE]
| 24 r_ [
T |
Il
X Mi2xt | P’ X Mi2x1
4 \ M18x1 \M18x1
63 TRC30-15D[ | 63
50 |j3 $42 10 i 40 [Us
35 —
|| | ZS
X M12x1 \@y) — X M12x1
Set2 M30x1.5 ‘\ 42 N M30x1.5
73 TRC30-15A[ | 10 073
60 Ps 042 5 iJB
i P i
il 1
= X M12x1
NMizxt 4.2 M30x1.5 -
22 M30x1.5 e :

Connector CI[]-8 Connector CL[ -8 10

] 2000
S ¥

§I BN — == @ (Tl =
4 25 S
2000 e
*“I'model ‘L*model
Connector CI[]-12 40 Connector CLLJ-12 $14.5 2000
10.4 282
¢ @ s :
(@) 0 7ao) N *’l
® o & =
2000 g2
‘I'model ‘L*model ¢>

o Qo &
0726.175.111 | COMPONENTE PNEUMATICE S| HIDRAULICE AUTOMATIC INVEST WWW.AUTOMATIC.RO
0721.228.444 | COMPONENTE ELECTRICE ROMANIA, IAS], EMAIL
0754.075.656 | COMPONENTE MECANICE CALEA CHISINAULUI, NR. 29 VANZARI@AUTOMATIC.RO




